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What is the primary characteristic of a series
circuit?

A. There are multiple paths for the current to
flow.

B. The current is the same throughout the
circuit.

C. The voltage is constant across all
components.

D. The total resistance decreases with the
addition

of new resistance.

€A 5l Bt palad) dpaldd) La

.JL:\:\.“ é;ﬂ C’_a\JL.u Bac da AL
,'BJ:\\JS\ elail s L_é Al od )L}-‘MB

REILE LNy SVENSTORGITLIKVEN [
5303 e stie Ada) o £0S0) e sial) (D,

If two identical lamps are connected in

series to a battery, how will their brightness

compare?

A. The first lamp will be brighter than the
second.

B. The second lamp will be brighter than the

first.
C. Both lamps will have the same brightness.
D. Neither lamp will light up.

sl o e laluas Fiaj 1)
lage sh (A Ual) ¢Sy Ciush (A jUay

S e e shan STV 2 laadll ¢ SanA,
IV (e e sl ST G ladll () sSuB,
& shandl i Lag) () S (palimaall EC,
malaad) (e Gl ey GID.
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What happens to the current in a series
circuit as it passes through each
component?

A. It decreases gradually.

B. Itincreases gradually.

C. It remains constant.

D. It alternates in direction.

die gl o dlaga 8 il B Lall sy 53 L
fO38%a JS e 094

LB )i Bl A,

L, 23 3 B,

B ks C.

Sad¥l b i D,

If a third lamp is added in series to a
circuit with two identical lamps, how
does this affect the brightness of all the
lamps?

A.The brightness of all lamps increases.
B. The brightness of all lamps decreases.
C. The first lamp remains bright, but the

others dim.
D. The brightness remains unchanged.

g B8 ) sl o s £ lua Cinial 13)
g £ ob o dll i G (i (laluas
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.
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What will happen if one of the lamps in
a series circuit burns out?

A. The remaining lamps will glow brighter.
B. The circuit will stop working entirely.

C. The remaining lamps will continue to
glow with the same brightness.

D. The current will bypass the burnt-out
lamp.

& shandl ity il 8 L) uliadll jeiniuC.
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Which of the following accurately
describes the voltage distributionin a
series circuit?

A. Voltage is the same across all
components.
B. Voltage decreases across each

C. Voltage increases as it moves through
the circuit.

D. Voltage is not measurable in a series
circuit.

component, proportional to its resistance.

B B agat) a el By sy Y (e

f Al A o ga
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Al glie re il 5386 S e agall (128308,
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What does adding more resistors in
series to a circuit do to the total
resistance?

A. It decreases the total resistance.

C. ltincreases the total resistance.

D. It eliminates resistance altogether.

B. It has no effect on the total resistance.

oS Ala gal) e glial) (ha & Jal) ddLls) L La
2,1SY) A gliall o A S B la ) M gl

A A laall JTsA,

AN A il e i VB
Al AL gladll 4 5C.

Jalas 4K A glaal) aLD,

Why does the brightness of lamps
decrease as more are added in series?

A. The total current decreases as
resistance increases.

B. The battery voltage is shared equally
across more components.

C. The lamps interfere with each other’s
operation.

D. The total resistance decreases,
reducing power output.

e 3 all ALl an liaal) £ shu (adddy 13l
R

Aaslial) 3333 e U L A,
O ) e (g gbudlls 4 jUadl aga auds JUB,
.l Sl
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If a series circuit contains resistors of 4
Q, 6 Q, and 10 Q, what is the equivalent
resistance?

A.20Q
B.10Q
C.6Q
D.4Q

& sl Mgl e dlia ga B il cuils 1)
Lé40,6Q,and 10 Q Lhiad claglia
481l A glial)

A.20Q
B.10Q
C.6Q
D.40Q

Which of the following best describes a
voltage divider?

A. A circuit that increases the potential

difference across a resistor.

B. A circuit that produces a potential

difference less than the source voltage.
C. A circuit that maintains constant

current

through all resistors.

D. A circuit that divides current equally

among parallel resistors.

1) o liall 5 il L) o8 520D,

Sl (s o ey V) 000 ]
Aaslia e seall (58 2 555 A,

il g (ge S8l dga (38 5 0B,
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What formula is used to find V. value?

SV, dad Moy daddieal) dalaal) La

A.Vo =1IRs + IR,
V-R
B-V'z — Rlléz

_ V
C.Vé_ Ri+R»

D.Vo = Ry - Ry
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What is a key characteristic of a
parallel circuit?

A. The current is the same through all
components.

B. The potential difference is the same
across all branches.

C. The total resistance increases with
each additional resistor.

D. The total current decreases with more
branches.

£ 05l B Apulul) Aualdld) L

L3Sl mea e Gglade Ll () 5SA,
F oAl aen o 4ds g4 agall 3 8B,
il e glie S ae 2l Fa gliall 23 5C,

& odll aae 3k ) e (ASI Ll 305 JSD,

®

— 120V

If the ammeter reading is 4 Awhatis
the value of R?

¢ RAad Lad ¢ jual 4 jiia¥) 3 8 cuils 1)

A-R=300Q B-R=600Q

C-R=1200Q

D-R=15Q
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A

18V

Ia

T = =z

/zl %

3.0Q| 6.0 9.0Q
. 4
' %)
From the circuit shown which of the Q) g:‘s\ %) fgi lai'ay.\\ 3l pa
following is true?
A |1 = |2 = |3
B 1 >1>1;
C hW<1<lIs
D lh=1<I3

What happens to the equivalent
resistance of a parallel circuit as more
resistors are added?

A.ltincreases.

B. It remains constant.

C. It decreases.

D. It becomes equal to the largest

resistance.

A ALa ga Byl Al da gliall duaay 13le
feila glial) (pa i jal) ddLa) die (g 5 g)

JAla ¥A,L

s Q.

o=iliC,

Al Y Ul maaiD,
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2405 120v(Vy) 90 (V)

What is the reading of Ammeter A and
voltammeter V;

Vo siail gl g A slaad) 3513 4 La

1|
ol

Ammeter reading Voltammeter reading
Sl opl B il gdl) o 3
A 20A 120 v
B 18 A 240v
C 18 A 120V
D 8A 120V
®

2405 120v(Vy) 990 Q

What will happen to the reading of
Ammeter A if the last resistor R=9 Q
was removed?

Lagial) il 13 A e 5ol A1 iaa 13La

‘R=9 O Y

A -Increase 2y B- Decrease =iy

C-Unchanged _si ¥ D- equal to Zero jia gua
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What is the correct formula to find the
equivalent resistance (Reg) of three
resistors (R1, R2, R3) connected in
parallel?

4dlal) 4 gliall My dapaual) Adslaal) & L
s LasaR3) R2 ¢ (R1<ke skia EY(Req)
?éj\jﬂ\

A.Rﬂq :Rl +R2+Rq

1 1 1

1 _ 1,1, 1

R, TR TR TR
D. Ryy = Aufiely

eq: Ri+Ry+Rj

0259 | Kitchen
light 240 ©
Switch / Power
box (9 C saw
120V -
Wall outlets
0.250

Why are devices in household circuits
typically connected in parallel rather
than in series?

A. To ensure that all devices receive the
same current regardless of their resistance.
B. To allow each device to operate
independently with the same voltage across
them.

C. To increase the total resistance and
reduce the overall current flow.

D. To ensure that if one device fails, the
current in the entire circuit stops.

s Bale A al) il sall B 3 gal) Jia s 13l
?gﬂﬂ‘ UJQ gy éjbﬂ\

oy Ll e 3 3eaY) aea AT O GlaalA,
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gl ity Jiise JS0 daally Slea IS ~LelIB,
A e
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-’- 24 Q2

90 6 €2

What will happen to the reading of Ammeter

AT G313 (Aq) sised) 3618 Giaage 1ila

A, if the last 6 Q wire was removed? Q6 dlu
A-Increase 2y B- Decrease Uiy
C- Unchanged s ¥ D- equal to Zero e rua

Which of the following has the highest Req 15 1o (s 9880 (b Laa
Req
R R R
AAAA——AAAA —NMW—
R
Al — L | C | — A S
R R
——AVW—— —NWW—
R
AA%%
R R R R
B | —WW—AAVWW—AW— | D 4 AMAN——
R
AA%%
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Which of the following has the lowest
Req

Req 8l (A 55880 b Laa i

R R R
AAAA——AAAA —\VV—
R
Al e —AM— —
R R
R
AMAA
R R R
B | — MW —MA—AN— N SV YU S
R
A

The diagram below shows currents in a segment of
an electric circuit.

l?A

3A

5A

‘What is the reading of ammeter 4?

A)1IA B)5A C)9A D)I5A

In the electric circuit diagram below. possible
locations of an amimeter and a voltmeter are
indicated by circles 1. 2. 3. and 4

TR

Where should an ammeter be located to correctly
measure the total current and where should a
voltmeter be located to correctly measure the total
voltage?

A) amumeter at 1 and voltmeter at 4
B) ammeter at 2 and voltmeter at 3
C) ammeter at 3 and voltmeter at 4
D) ammeter at 1 and voltmeter at 2
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Ra

If a charge gains 12V across a battery
and loses 7 V across a resistor in the
same loop, what is the potential drop
across a second resistor in the loop?

A.3V
B.5V
C.7V
D.12V

7 caih g dyjlay el gh 12 Adadd) s )
ub&ﬁ‘)‘&hée)@‘wﬁlgéh\g&yﬂﬁ
?JM\@@GLJ&J&J@S‘

A.3V
B.5V
C.7V
D.12V

What does the junction rule state about
the currents at a junction?

A. Current entering a junction equals the
current exiting that junction.

B. Current entering a junction is greater
than the current exiting it.

C. Current entering a junction is always
less than the current exiting it.

D. Current entering a junction depends
on the total resistance in the circuit.

Jsa Ll J ) s S (508 dgle Jali o) La
g adalil) aie <) )

Dbl 3ad o sbus ¢ L ddads ) Jalall Ll sagA,
:Uas.ﬁ\ Y (e GJ\';“

DLl 82 (e ST (5 Ak W Jalall Ll 305B,
Ja il aaliil) ddais ) Jadall il sad o $S5C,
Leia CJ\AJ\ Jbﬂ\ 3% (e

Laslial Lo dlagll L) Jalall L sad aaieiD,
A peSh 5 a4

1. What principle is the loop rule in
electric circuits based on?

A. Conservation of charge

B. Conservation of momentum
C. Conservation of energy

D. Conservation of mass

Al 8 dalal) Bacld 4) atiad o d) fasal) L1,
04 gl
adl) Jaéa A,

4 jall 40 JaiaP,
A3 LaisC,
A< LaiaD,
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v, =

|'s

' ' B

2

For Junction A if

I, =25Aand I3 = 1.0 A, what is [5?

L agd il 130, bl Ao La A Baiad) ai

Il = 25Aand I:; = ]_UA

A.1.5A
B.2.5A
C.3.5A
D.1.0A

2 an
A I rd
v I --‘.

v A
| 3A "lz

with current [

The diagram shows a junction in a circuit

I ) laie e 4L 568 5 yila (8 dlia s Cp JSA)

lr2=51‘j.|
I, = 14
I, =74
I, =24
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Lk e 1419 S g2 JL 70

250
30Q 10
—_
= 25V
20Q 40 Q2
4—194sis n

Sl Losliadl Jluis L .a
- 5 e LY guage 20.0 £2 530.0 §2 (L gLats
R, =30.0Q + 20.0 2 =50.0 2
- A e LT suasa 40.0 2 510.0 €2 laglats
R,=10.0Q + 40.02=50.09

S8 e (LD goge R23 Rl Olia glat

1 1 1
—_— =4 =
R_“R R,
_ 1
~TED
r R,
1
R =
Qe ——
50.0  50.00
=25.00

25.0 Q9 25.0 2 o LGianlidi lieglaall 24SH Aaglal
gbud el Lle Ol guostiy
R=25.002+25.02=50.0Q
25 ds skl B LI L Jlais cowl b
1Ol AUST) daglaliy agi (15913 Aldwiuly

_ V _ 25V _
I= =<0 q =0-50A

s

v@}‘)w‘;ﬁyﬁW\JLr@\w\ d
sl

<

VR _ (120V)(9.8V) — 96V

"R +R~980+250Q

Vi
WAL ST )00 gl Slida’s 42
6669 LY e LD 4-18 (S ] o)

b Bed pall Dlesliadl s Ao slis S Hluis OIS 13) .66
3,25&&».” lﬂﬁu.oj\ wu 30 Q2 H.;}Lwi JS.Z._H

4-18 Jsan m

&3 e oLt guogalt 30.0 £2  30.0 €2 ;llaglials
AL Roglaally 15.0 O g 5luds A58 (Sall Laginglie
Aaglaedt 5950 (g1 (18 le Legaa Alaie (5553
£ 3,014l AaISa

R=30.02+15.00=45.0Q

LIS il e B 120 mW & 5lie IS il 13 .67
L8 A&l
P=3(120 mW) = 360 mW

1. Jaie L3l =1.7mAs I, = 13mA O 13| .68
I=1—1,

=13mA—-1.7mA

=11.3mA

§1, ylais Lde [=13mA 5[ =1.7mA Ol 51 3L .69

L=1+1
=13mA + 1.7mA

=14.7mA
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an electric circuit?

A. To regulate voltage in the circuit.

B. To automatically reconnect a circuit
after an overload.

C. To melt and stop the current when it
becomes too large.

D. To prevent energy loss in the circuit.

What is the primary purpose of a fuse in

3 e Cgan g Galali 3 Al (s g3 33l VB,

Bl A ) jalial) (e (o) i Al La
04y gt

Sl 8 agall aplatilA,

S 1508 ey Ladie Jlll Glay 5 Jleai¥C,
Bl 8 A s D,

If the fuse in a household circuit blow,
what happens to the connected
appliances?

A. They continue operating with reduced
efficiency.

B. The voltage to the appliances
decreases.

C. The current to all appliances stops.
D. Only the appliance causing the issue
stops working.

1Lad (A Jia Al S 808 B guaiall yguard) 13)
S gac gall 5 g Guany

Aunidie 80l Janll (85 Y] jaiudA,
306 (el sgall midiB,

BoeaY) aea )l Ca uC,

el (e Jadd AL sl jleadl a8 5D,

How does a circuit breaker stop
excessive currentin a circuit?

A. It melts to break the circuit.

B. It bends a bimetallic strip to release a
latch and open the switch.

C. It reduces the voltage supply to the
circuit.

D. It reroutes the current to a secondary
path.

gl s Y e el panall A Uny i LB,

o 1N Ll A gl 30l adald gy S
€5 _ill)

A yeSh 5ol ahai) jeaaiA,

20681 3 nlall alaa) (e JIC,
RER 5 WO | BT EEENP Iy p )

Mr. Adham Zewin - 0505084733



G12 General Physics - Unit 1

S Ban gl — ol )

T2-2024 - 2025

What is the purpose of a ground-fault
interrupter (GFI)?

A. To reduce the current in the circuit.

B. To detect and stop current differences
between wires.

C. To connect devices in parallel.

D. To prevent fuses from melting.

¢ (GFI)i bl ) o dil) adald (e (22 ) La

A seSl sl & Ll Qe
LYY G Ll 55 il 5 LS,
g5 e 3 5 Jea siC,
eV e lalacall gialD,

Why is the resistance of an ammeter
designed to be as low as possible?

A. To minimize the change in currentin
the circuit.

B. Toincrease the resistance of the
circuit for better accuracy.

C. To measure voltage drops effectively.

D. Toreduce the potential difference
across a resistor.

il 48y e Jgmnlls il Lo slie 3l 30

......

LAYl
A eV 3l 8 Ll 8 el il

A
B.
Agllady agall palaas) uldl - C
Aagliadl ye aall 3 ddsl p

How is a voltmeter connected in a
circuit to measure the potential
difference?

U In series with the resistor.
U In parallel with the resistor.
U Directly across the power source.

U In series with the power source.

(B8 Oubil 3531400 (B il gil) Jua 55 oy i
fagal)

gl e i e

e Jidl e 5315 e
ALl juae e b dlu(]

AL aae g sl e
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What is the ideal resistance of a
voltmeter and why?

U Low resistance to minimize current
changes.

U High resistance to minimize current
and voltage changes.

U Moderate resistance to balance
current flow.

U No resistance to allow maximum
current flow.

$)ilaly el 8lt Alial) da glial) La

Ol il paas Jdil ducadiie da 5lia])
Seadls bl Gl s Jlil dlle 4 slaa]
O (385 45 ) sl Alina 4 5laa(]
_nguééﬁ@aﬁ;cwruj& 2w YO

What happens to the potential
difference across a resistor when a
voltmeter is connected to it?

U Itincreases due to added resistance.
U It decreases due to reduced equivalent
resistance.

U It remains unchanged regardless of the
voltmeter.

U It becomes zero due to circuit
interruption

o si Lo daglia s 3gad) 3l Guany Vila
gy sipall g

Adlaal) 4l glaal) o 2l 1)

LA8SA]) A glial) alads) (s
el e A s e 05 S50
a0 590 U i o]

‘Which circuit diagram represents voltmeter ¥ connected correctly to measure the potential difference

across resistor Ra?

A) B)

Ry

) D)

Rz
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V)
O
® VWA

I||+
<

50 22

3502

159%

AAA

If the battery provides 180 v potential

difference

clsd 180 2 @48 s 4 tad) cils )

Ammeter reading Voltammeter reading
Sl og) 8 il gdl) o B
1.8A 180 v
TA 180 v
1.8A 63V
5.1A 35V
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g @

Which of the following is true?

Srna b Laa i

A. The Equivalent resistance is 10.5Q

B. the reading of V> > that of V4

10.5 Q (s LIS Zasliadl A,

Vo>V, sl @ B.

C. The current flowinthe 35Qis 0.5 A

D. thereading of V.=10V

sl 0.5 sk 0 35 & @il Ll C.

Vo=10V 35‘«\)5 -

®

[ o]

I+

I|I
=
<

R )
2R§

Which of the following is True?

?g\yag.\,gl.uéi

a) AV=V,-V,
b) AV=V;,+V,
c) AV=VixV,
d) AV=V;+V,
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I+

all

&

(s
VA

(A
&)
Which of the following is True? ) ga A laa
A l1=12=13
B h>1>1;
C h<lb<ls
D =1 <l
B —— A
N
- +
— 100V R
Réa glial) dad Lad ¢ yusal 1.5 sisaY) 3s) B cuils 1)

If the ammeter reading is 1.5 A what
will be the value of resistance R?

6.66 Q) 15Q

7.4Q

3.33Q
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(A
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y
— 10,0V 2R

If the value of R =2.5 Q what is the current?

€L dad Led R=2.5 Q daf cils 1)

A-2A B-5A C-1.3A D-4A
E—A
220

I+

OR-

(A
&
The diagram shows two resistors 8 « 4‘*‘3&* ‘-’*S"‘f“ ‘-’*‘{?‘ML‘-’H
connected to a battery in a circuit. °f'b;§h“' T SRl O M) A s
ag last) JMA b (38 L
If Ammeter A, gives a reading of 0.20A4, 2l OB 24l 62 1.0.204
what is the potential difference across
the battery?
A-4.4V B-22V C-7.4V D-3V
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A | Attraction - wilas

Repulsion - Al

B | Attraction - wilss

Attraction - a3

C | Repulsion - i

Repulsion - il

D | Repulsion - il

Attraction - «iad

I i e i
e T e T
— T e T e
e i N M
— T e T e T
T T e T
— T e T e T
e T e b
— Tl e T e T
e T e T

What is a domain in a ferromagnetic
material?

A. Aregion of alignhed magnetic fields in
space

B. A cluster of positively charged ions
C. A single atom acting as a magnet

D. A group of neighboring atoms with
aligned poles

4008 dpughaline Bala (b wwklina) 3lhil) Le
‘;Z_JSIAM | dpuahalizall Vsl e dahaiaA |,
Leliadll

Rl f sall i 8 (e e sanaB,
WLLAMS Caxsd 3aal B)..)C_

Y 3 s slatidl @l Al (e de gaaaD,
Ll
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NN
N\ T =
YAl gy
N WSS

— T e T e T
— e T Y
— T BT T T TR
T T e T
—_— T T
e T e T
—_— T e i
T T TR
— T e

— e >

How do the domains in a non-
magnetized ferromagnetic material
behave?

A. They align with Earth's magnetic field.
B. They pointin random directions.

C. They repel each other.

D. They form a single large domain.

¢ dhitaa p Bala A Clilall) G pali i
2N aaalixall Jlaall g s3aTA,
Al sdie clalad) 4 5B,

and) lgany e AUEC,

8 opS Banl 5 dplaline dikaie 35D,

— T e T e T
— e T Y
— T BT T T TR
— e T i
—_— T e T
e TR e T
I e e e SR
T TR TR,
— T i e

— e >

What happens to the domains of a
ferromagnetic material when itis
placed near a strong magnet?

A. They lose their poles.
B. They align in the opposite direction as
the external magnet's poles.

C. They align in the same direction as the
external magnet's poles.
D. They split into smaller domains.

g g die dpaia dscualia 30l il diaay 13la
558 Gubilita e Al

Lgaladl SEA

ouablinal) (Y (Sl olai¥) b (53aTB,
cen A Gudaliaal) Uil ol i (53ATC,
sl s ) laniiD.
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Which of the following is Not true? e o lilea gl

A

-— — >

-— — >

—_—— —e

-— — >
Which of the following statements Ly e Al @l jlad) (a6
is correct about the magnet shown in the fUSAl 8 Al Guablisal) (ady
figure?

(=
&

A. Xrepresents South pole and Y represents North pole
Sl ladll Fiad Y g o siad) Gladl) Jiad XA

B. X represents South pole and Y represents South pole

il bl Jia Y 5 o gial) ladll Jia X B
C. Xrepresents North pole and Y represents South pole

sl il Y et il i X .C
D. Xrepresents North pole and Y represents North pole

Aadll il B Yy ol aladll Jisi X D
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According to the figure. At which point the magnetic fluxis highest?

P wd =
w = AN

008y La oSl el (383 ¢y 98y Adali (o die  JSA e slaic

€ onhaliial) 3301 Ciy a3 98 La

Cigno il (35185 ) asslabiall Jlaall L gl 30 ., |
Asnlaliaal) llail) _end (glalia 8 alall JAla <l HA s 5 osa, @
Al ol gl e clinhliagdl L iy Sl ssdll a7

el s mr i) Jlaall & il ke g8, 2
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Which statement is wrong about magnetic flux?
S uublisadl o2l josy lews dibls AWl Ol o Gl

SHRRT
ALY y
S R T
‘-‘_‘.i*l'.. A\

[ \'\ -h

L =

ARATR) Y13T3
NV T 2
ALV LF

{ 4] ]

Liral) Jlaal) 305 824 5 Lieall g8t ala 301,
O 33 (g T ']

rsabliaall Jlaall 303 (Jlaliy  pulalina) Gaxill J& 2.

Gullinall il e ST U< esllindl 8 5S 503,
eallinall S 5 i S (S8 anhalinal) g3l S 5 4,

A straight wire carries a current into the
page. What is the direction of the
magnetic field at the point to the East
from the wire?

(A) West
(B) East

(C) North
(D) South

Jlaall oladf Le daball 13 1345 Jany adine el
Sellod) o (B ) @S ) Ak e ullinal

< ()
B (<)
Jett (2)
Lsia (3)
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Above there is a circular loop of wire
that has a counter clockwise current
running through it. What is the
direction of the magnetic field inside of
the loop?

a. North

b. South

c. Into the page
d. Out of the page

4 Say LS 4y Sy dllad) (e g i cila ode ] 2o
Jlaad) slad) La Aslud) < l8e oladl use L
Silal) J ealabiaal

o0

The wire above has a current being
carried to the right and pointPis a
distance r away from the wire. What is
the direction of the magnetic field at P?

a. Out of the page
b. Into the page
C. Left

d. Right

P Akdil) g cyaal) olal) A oM dllad) B LS ey
(rushlial) Jlaall slad) Le ludl Gy r Al o
¢ palaiil) aie

iaiall 7 jaa,
daiall Jals b,
Dbl e,

Ol i,
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What factors increase the strength of a
solenoid’s magnetic field?

a) Decreasing the number of loops.

b) Increasing the current and number of
closely spaced loops.

c) Using a non-metallic rod.

d) Reducing the currentin the loops.

cilall ndalital) Jlaall 848 (ra 1335 AN Jal g2l La
sl

atalad) dae Jalss (i

o lEiall sl aae 5 jlall 33l ) (w0

PRSP T SRy

Lolalal) 8 bl Juls (o

Using right hand rule what is the pole
type Xand Y?

TY X Cmbll £ g8 La Aaal) A) Basd aladinly

i 1'_
x CU0IN

-~

B,
v

\: \

A | Npole el ki | N pole (ed ki
B | N pole i ki | Spole (st ki
C | Spole s> ki | N pole (ed ki
D | Spole s> ki | Spole (st ki
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Why is an electromagnet more
advantageous than a permanent
magnet?

A. It does not require electricity to
function

B. Its strength can be adjusted by
changing the current

C. It remains magnetized even after the
currentis turned off

D. It cannot attract ferromagnetic
materials

Cubliall (e 320 ] (o g8l udalitall 3 13
¢ adlall
e-l

dard el S () zlisy YA,

DL s sk e 4558 avia (SeB,
) s Gl 2y s Unires (I,
Laall fpuplalinall 3 sall s 435 YD,

Which of the following bulbs are connected in series?

¢ sl e Al pn g A mpladll

— o
— -.I
s
i -
4—1
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How can you increase the strength of the magnetic field in a solenoid?

¢ sl cale b bl Jlall 505 50 ) Hliay CaS

o Increased the current in the solenoid

o Increased the temperature of solenoid

o Increase the space between the loops

o Decrease the currentin the solenoid

sl calall & plEllsaby o

ol Gl 350 m da sy o

Clalall e ddladl 300 ) o

sl Galdl &l Qs

Liantt al) Bac1E
Right-Hand Rule

|

eablinall Jlaal) ol (& adbal) 5l ¢ adlhaal¥) Ll ol L aledY) juid 1

ceadaa¥l Ll slad) 8 alia) 50l 5 ¢ nblinall Jlaall oladl A aleaY) juii 2

bl Jlaadl ol 8 aibial) 5y o oadlhaa¥) Hlill GuSlaall slas¥) b ales¥) i) 3

cgmarbalina) Jlaall olatl 8 aila) s 5 adaa¥) Ll olatl 8 budl ju3i 4
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Al Atiudy)

What is the direction of the magnetic force on the current-currying wire in the figure?

Solnl JSuidl x6 bl Jazy Ul clladl (e ubolisall Jledl lgy s il 8531 olzil oo Lo

X X X X X

rabaliiall Jiaal)

X X X X X
L=50=cm
X X X X ;X i
30 mA = _al
X X X X X

Alud) g sl AN dslaliaall 5 gil) lala 3 gl

Based on the magnetic force on a current-carrying wire equation. At what angle (0) the force on the
wire is greatest?
F = ILB (sin 6)

$ylaie ST Bgall a5y O dgly ol aic )l 4w ey clluw e byigell dpuublisall 54all dslae (e Iilaicl
F = ILB (sin 6)

X X X X
B=05T
X X X X

aer v =4.0%10" m/s
X X X X

SISl b aUAN (igig ) e 5 jigall 5 gal slaly iska La
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©

— 4

If the battery offers a potential

Q

difference of 24 V and the value of R=4

Ay il gh 24 43 B g5 Al s 1y
R=4Q

When the key is switched off find

a- The reading of the ammeter

When the key is switched on find

a- The reading of the ammeter

2 gl 7 sida pUidall ¢Sy Ladic

)g;}-ﬂ\kn B;\)ﬁ JAJ\

2350 (3lia zUikal) ¢ 585 Laaie

);\33‘\\2’\ B;\)ﬁ JA}\
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WAA

()
o/
3592
+
= 159%
50 02

A oo quald (il gh 12 il gll) 36) B cuils 1)

If the voltammeter reads 12 V answer
the following

¢ d8l<all dagliall La

What is the equivalent resistance?

Calculate the potential difference across the battery?
A bl e ) (34 )
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L1
ks
= 45V L= QLs

If the resistances if the lambs are L=5
QandL>=L;=10 Q. Find the following

9L =5 Q liaglial) il 13) ¢lia glial) cuils 13
Y 2l =L3 =10 Q.

the equivalent resistance?

¢ ddl<all da glaal)

If the light bulb L; burns out what will happen to the current in L1? explain

T A L1 ULl Ganau 54 Lad L3 zluaal) (3 hal 13)
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5o o - o 4 e pliie chlize Jlase (4 1.20 M alsh o dlu i
e o o o o oslaall JSE) (8 e e LS B0 A d3 jaiua (SLeS LS
R e 0.80 T Jladll laka oS 13)
e o o o o

vAsh 5y gl Alalizall 3480 j)ake caaa) .

sall oa il caan L) elianun olad) (ol s J<al) o a3a aASall Ga Ll K1Y Lo

" " x x | eblite Jlas 3 2.0 X 105 /S Apeas 5 Calh
B ) ) sl KAl 8 e a LS 8.6 X 1072T o)k sl

—3 i) b s sl ke el
) . ’ ) ) . (1.6 X 10719C = syl dai)
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